	1. 
	Write three million two hundred thousand in numerals
	









	
	
	

	2.
	654 X 3 =
	









	
	
	

	3.
	L  -  X  =
	









	
	
	

	4.
	7/6  =  as a mixed number
	









	
	
	

	5.
	4,453,087 + 2,231,494 =
	









	
	
	

	6.
	54 ÷   =  9
	









	
	
	

	7.
	36 – 38 =
	









	
	
	

	8.
	2545 = in Roman Numerals
	









	
	
	

	9.
	30 x 50 =
	









	
	
	

	10.
	5/12 + 3/6 =
	









	
	
	

	11.
	2436 ÷ 6 =
	









	
	
	

	12.
	0.276 ÷10 =
	









	
	
	



	13. 
	32 x 5 =
	









	
	
	

	14.
	100,000 - 501 =
	









	
	
	

	15. 
	1,000 X         = 7,000
	









	
	
	

	16. 
	         ÷ 2 = 4.5
	









	
	
	

	17.
	15% of 500 =
	









	
	
	

	18.
	21.82 X 4 =
	









	
	
	

	19
	3/20 ÷ 4/8 =
	









	
	

	

	20.
	[bookmark: _GoBack]Round 345,567 to the nearest 1,000

	









	
	
	



